
 

 

[NB: The figures in the right side indicate full marks]       Full marks: 20 

1. Write down only correct answer:        1 × 3 = 3 

A. Which one is correct answer? 

a.0÷14=0  b.14÷0=0  c. 14÷2=1   d.14÷0=1 

B. Which one is correct answer? 

a.0÷3=3  b.3÷0=3  c. 3÷3=0   d.3÷3=1 

C.  

 

 

 

              

   

In the above problem which one is dividend? 

a. 54    b.6   c.327   d.3 

2. In the class, there are 61 students .4 students can sit on each bench, how 

many benches will be needed for them?      1 × 3 = 3 
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  Answer:  327  ÷ 6 =  54  R  3 



 

3. Fill in the blanks with appropriate words.     1 × 3= 3 

a. The number that will divide the________ is divisor. 

b. The answer to a division problem is _____   

c. An amount left over after division is _____ . 

4. Do divisions:          2 × 3= 6 

a. 449÷5      b. 300÷5         c. 84÷8    

5. Match the columns with the correct answer.    1 × 5 = 5

      

 

 

 

 

 

 

 

------------------ 

Column A Column B 

a) 49÷7 1) 10 

b) 10÷1 2) 1 

c) 54÷6 3) 7 

d) 12÷2 4) 9 

e) 8÷8 5) 6 

 6) 54 


